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Explain any two methods of depreciation.
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Distinguish between departmental and branch

accounts.
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Explain the special features of hire- purchase‘

agreement.
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A and B are partners 'sharling profits and losses in

‘the ratio of 3 : 2. C is coming as a new partner who

pays Rs. 10,000 as premium for good will. The
profit sharing ratio among A, B and C is equal.
Pass necessary journal entries assuming that
premium money is retained in the business.
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Pass journal entries for the following :

A, B and C are partners sharing profits and losses
in the ratio of 4 : 3 : 2. B retires. The value of
goodwill in Rs. 45,000. A and C decide to share

- profits and losses in the ratio of 3: 2.
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